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° LIMDEP Execution Trace. This run: 06/30/98. Time now 13:58:49.

TTEZ

Line Program Instruction
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
A

=Y

EDIT
This begins 1 repetitions. The first is shown.

2 Open; output=v:\youthemp\time\limdep\gls2.out $
3 Title; output file v:\..\gls2.out (aggregated youth) $
4 Reset$
5 Read; file = v:\youthemp\time\limdep\input2.wk1

; format = wks

; names = $

Current sample : 104 observs.

Total variables now : 17

Missing values read : 0

6 Create; LWy=log(Wy)
; LWam=log(Wam)
; LWaf=log(Waf)
; LWk=log(r)
=log (Q) $
7 Namelist ; Wages = LWy, LWam, LWaf
; Prices = LWy, LWam, LWaf, LWk
; Costshar = Cy, Cam, Caf
; Ed = Edy, Edam, Edaf $
8 Sure; LHS = Cy, Cam, Caf
; Eql = one, Prices, LQ
; Eq2 = one, Prices, LQ
; Eg3 = one, Prices, LQ $
Results begin on page 1 in output.



Exit status for this nodel command is 0.0.
9 Sure; LHS = Cy, Cam Caf
; Eql = one, Prices, LQ
; EQ2 = one, Prices, LQ
; EQ3 = one, Prices, LQ
; Os: B(3) - B(8) =0,
B(4) - B(14) = 0,
B(10) - B(15) =0 $
Resul ts begi n on page 3 in output.
Resul ts begi n on page 5 in output.
Exit status for this nodel command is 0.O0.
10 Sure; LHS = Cy, Cam Caf
; EQl = one, Prices, LQ
; EQ2 = one, Prices, LQ
; EQ3 = one, Prices, LQ
; Os: B(2) + B(9) + B(16) = 1,
B(2) + B(3) + B(4) + B(5) =0,
B(8) + B(9) + B(10) + B(1l1) = 0,
B(14) + B(15) + B(16) + B(17) = 0,
B(1) + B(7) + B(13) =0 %
Resul ts begi n on page 7 in output.
Resul ts begi n on page 9 in output.
Exit status for this nodel command is 0.O0.
11 Sure; LHS = Cy, Cam Caf
; EQl = one, Prices, LQ
; EQ2 = one, Prices, LQ
; EQ3 = one, Prices, LQ
ET g
THITIES
° LIMDEP Execution Trace. This run: 06/30/98. Time now 13:59:10.
Page 2°
S
MIIEZ

Line Program Instruction
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
A

; Cls: B(3) -B(8) =0,
B4) - B(14) =0,
B(10) - B(15) =0,

B(2) +B(9) +B(16) =1,

B(2) +B(3) +B(4) +B(5) =0,

B(8) +B(9) +B(10) +B(11)=0

B(14) + B(15) + B(16) +B(17)=0

B(1) +B(6) + B(11) =0%$

Results begin on page 11 in output.
Results begin on page 13 in output.

Exit status for this model command is 0.0.
End command entry from editor.

12 stop
Iteration 0, Log-likelihood= 472.2467
Iteration 1, Log-likelihood= 472.2467

Log-likelihood has converged.
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° LIMDEP Estimation Results Runlog line 8



Page 1°

° Current sample contains 104 observations.
(o]

B

»
° Estimates for equation: CY
o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CY Mean = 0.02756,S.D.=  0.0234
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

2 Residuals: Sum of squares= 0.370552E-01 Std.Dev. = 0.01945

o

° Fit: R-squared = 0.30290, Adjusted R-squared = 0.26733
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o

°Model test: F[ 5, 98]= 8.52, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 265.2967, Restricted(4=0) Log-L = 243.4440
(o]

o Amemiya Pr. Crt.= 0.000, Akaike Info. Crt.= -4.986

o

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.2808 Autocorrelation = 0.8596
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 0.4316563E-01 0.43860E-01 0.984 0.32503

Lwy 0.2137142E-01 0.12463E-01 1.715 0.08639 1.897

LWAM  -0.1033518 0.19143E-01 -5.399 0.00000 2.416

LWAF 0.4726750E-01 0.21236E-01 2.226 0.02603 2.337

LWK 0.2570839E-02 0.50971E-02 0.504 0.61400 -1.317

LQ  0.8742913E-02 0.32342E-02 2.703 0.00687 9.894

BT

»
° Estimates for equation: CAM
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CAM Mean = 0.32888,S.D.=  0.1371
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

% Residuals: Sum of squares= 0.923459 Std.Dev. = 0.09707

o

° Fit: R-squared = 0.49418, Adjusted R-squared = 0.46837
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o

° Model test: F[ 5, 98] = 19.15, Prob value = 0.00000



o}

° Diagnostic: Log-L = 98.0794, Restricted(a=0) Log-L = 59.5476
(o]

o Amemiya Pr. Crt.= 0.010, Akaike Info. Crt.= -1.771

o

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.2960 Autocorrelation = 0.8520
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -0.9818078 0.21895 -4.484 0.00001

Lwy 0.3720601E-01 0.62217E-01 0.598 0.54984 1.897

LWAM  -0.1471760E-01 0.95563E-01 -0.154 0.87760 2.416

LWAF  -0.5447693E-01 0.10601 -0.514 0.60734 2.337

LWK -0.1195097E-01 0.25445E-01 -0.470 0.63859 -1.317

LQ 0.1402115 0.16145E-01 8.684 0.00000 9.894

~
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Page 2°

° Current sample contains 104 observations.

o]
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S
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° Estimates for equation: CAF

(o]

° Generalized least squares regression  Weighting variable = ONE

(o]

° Dependent variable is CAF Mean = 0.18266, S.D.=  0.2147
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

° Residuals: Sum of squares= 1.11499 Std.Dev. = 0.10667
(o]

° Fit: R-squared = 0.75067, Adjusted R-squared = 0.73795
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

(o]

°Model test: F[ 5, 98] = 59.01, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 88.2788, Restricted(4=0) Log-L =  12.9612
(o]

° Amemiya Pr. Crt.= 0.012, Akaike Info. Crt.= -1.582

(o]

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.3412 Autocorrelation = 0.8294
o

ET
Ya

Variable Coefficient Standard Error z=b/s.e. P[3230z] Mean of X



AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 2.639685 0.24059 10.972 0.00000

LWY -0.1457223E-01 0.68366E-01 -0.213 0.83121 1.897

LWAM 0.5930756 0.10501 5.648 0.00000 2.416

LWAF  -0.3830483 0.11649 -3.288 0.00101 2.337

LWK 0.3758149E-01 0.27960E-01 1.344 0.17891 -1.317

LQ -0.2948852 0.17741E-01 -16.622 0.00000 9.894

Iteration 0, Log-likelihood= 472.2467

Iteration 1, Log-likelihood= 472.2467

Log-likelihood has converged.

[T

° LIMDEP Estimation Results Runlog line 9
Page 3°

° Current sample contains 104 observations.

(o]

B

»
° Estimates for equation: CY
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CY Mean = 0.02756,S.D.=  0.0234
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

° Residuals: Sum of squares= 0.370552E-01 Std.Dev. = 0.01945

o}

° Fit: R-squared = 0.30290, Adjusted R-squared = 0.26733
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o

°Model test: F[ 5, 98]= 8.52, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 265.2967, Restricted(4=0) Log-L = 243.4440
(o]

° Amemiya Pr. Crt.= 0.000, Akaike Info. Crt.= -4.986

o

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.2808 Autocorrelation = 0.8596
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 0.4316563E-01 0.43860E-01 0.984 0.32503

Lwy 0.2137142E-01 0.12463E-01 1.715 0.08639 1.897

LWAM  -0.1033518 0.19143E-01 -5.399 0.00000 2.416

LWAF 0.4726750E-01 0.21236E-01 2.226 0.02603 2.337

LWK 0.2570839E-02 0.50971E-02 0.504 0.61400 -1.317

LQ  0.8742913E-02 0.32342E-02 2.703 0.00687 9.894

BT

»
° Estimates for equation: CAM



o}

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CAM Mean = 0.32888,S.D.=  0.1371
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

% Residuals: Sum of squares= 0.923459  Std.Dev. = 0.09707

o}

° Fit: R-squared = 0.49418, Adjusted R-squared = 0.46837
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o}

°Model test: F[ 5, 98] = 19.15, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 98.0794, Restricted(a=0) Log-L = 59.5476
(o]

o Amemiya Pr. Crt.= 0.010, Akaike Info. Crt.= -1.771

o

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.2960 Autocorrelation = 0.8520
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -0.9818078 0.21895 -4.484 0.00001

Lwy 0.3720601E-01 0.62217E-01 0.598 0.54984 1.897

LWAM  -0.1471760E-01 0.95563E-01 -0.154 0.87760 2.416

LWAF  -0.5447693E-01 0.10601 -0.514 0.60734 2.337

LWK -0.1195097E-01 0.25445E-01 -0.470 0.63859 -1.317

LQ 0.1402115 0.16145E-01 8.684 0.00000 9.894

~
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° Current sample contains 104 observations.
(o]

B

»
° Estimates for equation: CAF
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CAF Mean = 0.18266, S.D.=  0.2147
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

% Residuals: Sum of squares= 1.11499 Std.Dev. = 0.10667

o

° Fit: R-squared = 0.75067, Adjusted R-squared = 0.73795
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o



° Model test: F[ 5, 98] = 59.01, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 88.2788, Restricted(4=0) Log-L =  12.9612
(o]

° Amemiya Pr. Crt.= 0.012, Akaike Info. Crt.= -1.582

o}

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.3412 Autocorrelation = 0.8294
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 2.639685 0.24059 10.972 0.00000

Lwy -0.1457223E-01 0.68366E-01 -0.213 0.83121 1.897

LWAM 0.5930756 0.10501 5.648 0.00000 2.416

LWAF  -0.3830483 0.11649 -3.288 0.00101 2.337

LWK 0.3758149E-01 0.27960E-01 1.344 0.17891 -1.317

LQ -0.2948852 0.17741E-01 -16.622 0.00000 9.894

~

BT

[

° LIMDEP Estimation Results Runlog line 9

Page 5°

° Current sample contains 104 observations.

(o]
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B

»

° Estimates for equation: CY

(o]

° Generalized least squares regression  Weighting variable = ONE

(o]

° Dependent variable is CY Mean = 0.02756,S.D.=  0.0234
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

2 Residuals: Sum of squares= 0.375660E-01 Std.Dev. = 0.01958
(o]

° Fit: R-squared = 0.29329, Adjusted R-squared = 0.25723
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

(o]

°Model test: F[ 5, 98]= 8.13, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 264.5849, Restricted(4=0) Log-L = 243.4440
(o]

o Amemiya Pr. Crt.= 0.000, Akaike Info. Crt.= -4.973

(o]

° Log-determinant of & -17.3824 Log-likelihood 461.1749
(o]

° Durbin-Watson Stat.= 0.3185 Autocorrelation = 0.8408
o

° Wald test: Chi-squared[ 3] = 23.5467, Prob = 0.0000

o

ET



Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 0.2142751E-01 0.41838E-01 0.512 0.60855

Lwy 0.2764855E-01 0.93252E-02 2.965 0.00303 1.897

LWAM  -0.1259862 0.15219E-01 -8.278 0.00000 2.416

LWAF 0.6599610E-01 0.16224E-01 4.068 0.00005 2.337

LWK 0.9225707E-03 0.46671E-02 0.198 0.84330 -1.317

LO  0.1062077E-01 0.30813E-02 3.447 0.00057 9.894

B

»
° Estimates for equation: CAM

o

° Generalized least squares regression  Weighting variable = ONE

o}

° Dependent variable is CAM Mean = 0.32888,S.D.=  0.1371
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98

o}

% Residuals: Sum of squares= 1.06581 Std.Dev. = 0.10429

o

° Fit: R-squared = 0.41620, Adjusted R-squared = 0.38642
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o

°Model test: F[ 5, 98] = 13.97, Prob value = 0.00000

(o]

° Diagnostic: Log-L =  90.6243, Restricted(4=0) Log-L =  59.5476
(o]

o Amemiya Pr. Crt.= 0.012, Akaike Info. Crt.=  -1.627

o}

° Log-determinant of & -17.3824 Log-likelihood 461.1749
(o]

% Durbin-Watson Stat.= 0.3596 Autocorrelation = 0.8202

o

° Wald test: Chi-squared[ 3] = 23.5467, Prob = 0.0000
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -1.338211 0.19457 -6.878 0.00000

Lwy -0.1259862 0.15219E-01 -8.278 0.00000 1.897

LWAM  -0.1936555 0.67691E-01 -2.861 0.00423 2.416

LWAF 0.3100449 0.64975E-01 4.772 0.00000 2.337

LWK -0.7275412E-01 0.21698E-01 -3.353 0.00080 -1.317

LQ 0.1570096 0.15097E-01 10.400 0.00000 9.894

~

[T
° LIMDEP Estimation Results Runlog line 9
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° Current sample contains 104 observations.
(o]

B



»
° Estimates for equation: CAF
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CAF Mean = 0.18266, S.D.=  0.2147
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

ZResiduaIs: Sum of squares= 1.19508 Std.Dev. = 0.11043
Z Fit: R-squared = 0.73276, Adjusted R-squared = 0.71913
Z Note: Not using OLS. R-squared is not bounded in [0,1]
ZModeI test: F[ 5, 98]= 53.74, Probvalue = 0.00000

° Diagnostic: Log-L = 84.6715, Restricted(4=0) Log-L =  12.9612
(o]

° Amemiya Pr. Crt.= 0.013, Akaike Info. Crt.= -1.513

o

° Log-determinant of & -17.3824 Log-likelihood 461.1749
(o]

% Durbin-Watson Stat.= 0.2988 Autocorrelation = 0.8506

o

° Wald test: Chi-squared[ 3] = 23.5467, Prob = 0.0000
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 2.369663 0.22593 10.488 0.00000

Lwy 0.6599610E-01 0.16224E-01 4.068 0.00005 1.897
LWAM 0.3100449 0.64975E-01 4.772 0.00000 2.416
LWAF  -0.1509700 0.77038E-01 -1.960 0.05003 2.337
LWK 0.1743694E-01 0.24790E-01 0.703 0.48182 -1.317
LQ -0.2714228 0.16355E-01 -16.596 0.00000 9.894
Iteration 0, Log-likelihood= 472.2467

Iteration 1, Log-likelihood= 472.2467

Log-likelihood has converged.

[T
° LIMDEP Estimation Results Run log line 10
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o Current sample contains 104 observations.
(o]

B

»

° Estimates for equation: CY
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CY Mean = 0.02756,S.D.=  0.0234
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98



o}

° Residuals: Sum of squares= 0.370552E-01 Std.Dev. = 0.01945

o

° Fit: R-squared = 0.30290, Adjusted R-squared = 0.26733
(o]

o Note: Not using OLS. R-squared is not bounded in [0,1]

(o]

°Model test: F[ 5, 98]= 8.52, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 265.2967, Restricted(4=0) Log-L = 243.4440
(o]

o Amemiya Pr. Crt.= 0.000, Akaike Info. Crt.= -4.986

o}

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.2808 Autocorrelation = 0.8596
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 0.4316563E-01 0.43860E-01 0.984 0.32503

Lwy 0.2137142E-01 0.12463E-01 1.715 0.08639 1.897

LWAM  -0.1033518 0.19143E-01 -5.399 0.00000 2.416

LWAF 0.4726750E-01 0.21236E-01 2.226 0.02603 2.337

LWK 0.2570839E-02 0.50971E-02 0.504 0.61400 -1.317

LQ  0.8742913E-02 0.32342E-02 2.703 0.00687 9.894

BT

»
° Estimates for equation: CAM
(o]

° Generalized least squares regression Weighting variable = ONE
(o]

° Dependent variable is CAM Mean = 0.32888,S.D.=  0.1371
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

% Residuals: Sum of squares= 0.923459  Std.Dev. = 0.09707

o

° Fit: R-squared = 0.49418, Adjusted R-squared = 0.46837
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o}

°Model test: F[ 5, 98] = 19.15, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 98.0794, Restricted(a=0) Log-L = 59.5476
(o]

o Amemiya Pr. Crt.= 0.010, Akaike Info. Crt.= -1.771

o

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.2960 Autocorrelation = 0.8520
o

ET
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z3%0z] Meanof X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -0.9818078  0.21895  -4.484 0.00001



LWy .3720601E-01 . 62217E-01 0. 598 0. 54984 1. 897

0 0

LWAM -0.1471760E-01  0.95563E-01 -0.154 0.87760 2.416
LWAF -0.5447693E-01  0.10601 -0.514 0.60734  2.337
LVWK -0.1195097E-01  0.25445E-01 -0.470 0.63859 -1.317
LQ 0. 1402115 0. 16145E-01 8.684 0.00000 9.894

T
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Page 8°

° Current sample contains 104 observations.

(o]

El

1Y

B

»

° Estimates for equation: CAF

(o]

° Generalized least squares regression  Weighting variable = ONE

(o]

° Dependent variable is CAF Mean = 0.18266, S.D.=  0.2147

(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98

(o]

° Residuals: Sum of squares= 1.11499 Std.Dev. = 0.10667

o]

° Fit: R-squared = 0.75067, Adjusted R-squared = 0.73795

(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

(o]

°Model test: F[ 5, 98] = 59.01, Prob value = 0.00000

(o]

° Diagnostic: Log-L =  88.2788, Restricted(4=0) Log-L = 12.9612

(o]

o Amemiya Pr. Crt.= 0.012, Akaike Info. Crt.=  -1.582

(o]

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.3412 Autocorrelation = 0.8294
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 2.639685 0.24059 10.972 0.00000

Lwy -0.1457223E-01 0.68366E-01 -0.213 0.83121 1.897

LWAM 0.5930756 0.10501 5.648 0.00000 2.416

LWAF  -0.3830483 0.11649 -3.288 0.00101 2.337

LWK 0.3758149E-01 0.27960E-01 1.344 0.17891 -1.317

LQ -0.2948852 0.17741E-01 -16.622 0.00000 9.894

~
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° LIMDEP Estimation Results Run log line 10
Page 9°

° Current sample contains 104 observations.

(o]

ET



B

»
° Estimates for equation: CY
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CY Mean = 0.02756,S.D.=  0.0234
o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

° Residuals: Sum of squares= 0.523509E-01 Std.Dev. = 0.02311

o

° Fit: R-squared = 0.01515, Adjusted R-squared = -0.03510
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o

°Model test: F[ 5, 98]= 0.30, Prob value = 0.91094

(o]

° Diagnostic: Log-L = 247.3276, Restricted(4=0) Log-L = 243.4440
(o]

o Amemiya Pr. Crt.= 0.001, Akaike Info. Crt.=  -4.641

o

° Log-determinant of & -16.2184 Log-likelihood 400.6458
(o]

% Durbin-Watson Stat.= 0.4650 Autocorrelation = 0.7675

o

° Wald test: Chi-squared[ 5] = 200.8935, Prob = 0.0000
(o]

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -0.2005502 0.31745E-01 -6.318 0.00000

Lwy 0.2676006E-01 0.10974E-01 2.439 0.01474 1.897

LWAM  -0.1774432 0.17623E-01 -10.069 0.00000 2.416

LWAF 0.1680407 0.18069E-01 9.300 0.00000 2.337

LWK -0.1735752E-01 0.44127E-02 -3.934 0.00008 -1.317

LO  0.1023475E-01 0.26824E-02 7.171 0.00000 9.894

BT

»
° Estimates for equation: CAM
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CAM Mean = 0.32888,S.D.= 0.1371
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

° Residuals: Sum of squares= 1.16720 Std.Dev. = 0.10913

o

° Fit: R-squared = 0.36067, Adjusted R-squared = 0.32805
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

(o]

° Model test: F[ 5, 98] = 11.06, Prob value = 0.00000
o

° Diagnostic: Log-L = 85.8991, Restricted(4=0) Log-L =  59.5476



o}

° Amemiya Pr. Crt.= 0.013, Akaike Info. Crt.= -1.537

o

° Log-determinant of & -16.2184 Log-likelihood 400.6458
(o]

% Durbin-Watson Stat.= 0.3239 Autocorrelation = 0.8380

o

° Wald test: Chi-squared[ 5] = 200.8935, Prob = 0.0000
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -1.170439 0.12246 -9.557 0.00000

LWY -0.9998630E-01 0.52891E-01 -1.890 0.05870 1.897

LWAM 0.4026684 0.67568E-01 5.959 0.00000 2.416

LWAF  -0.2714055 0.79857E-01 -3.399 0.00068 2.337

LWK -0.3127659E-01 0.20913E-01 -1.496 0.13477 -1.317

LQ 0.1322048 0.10538E-01 12.545 0.00000 9.894

~
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° LIMDEP Estimation Results Run log line 10

Page 10°

° Current sample contains 104 observations.

o]

ElT
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»

° Estimates for equation: CAF

(o]

° Generalized least squares regression  Weighting variable = ONE

(o]

° Dependent variable is CAF Mean = 0.18266, S.D.=  0.2147
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

° Residuals: Sum of squares= 2.18963 Std.Dev. = 0.14948
(o]

° Fit: R-squared = 0.51037, Adjusted R-squared = 0.48539
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

(o]

°Model test: F[ 5, 98] = 20.43, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 53.1846, Restricted(4=0) Log-L =  12.9612
(o]

o Amemiya Pr. Crt.= 0.024, Akaike Info. Crt.=  -0.907

(o]

° Log-determinant of & -16.2184 Log-likelihood 400.6458
(o]

° Durbin-Watson Stat.=  0.3567 Autocorrelation = 0.8217
o

% Wald test: Chi-squared[ 5] = 200.8935, Prob = 0.0000

o

B

Yy



Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 1.370989 0.11124 12.324 0.00000

Lwy -0.2976273 0.59044E-01 -5.041 0.00000 1.897
LWAM  -0.1112036 0.84097E-01 -1.322 0.18606 2.416
LWAF 0.5705715 0.68093E-01 8.379 0.00000 2.337
LWK -0.1617406 0.19878E-01 -8.137 0.00000 -1.317
LQ -0.1923473 0.11907E-01 -16.154 0.00000 9.894
Iteration 0, Log-likelihood= 472.2467

Iteration 1, Log-likelihood= 472.2467

Log-likelihood has converged.

[T
° LIMDEP Estimation Results Runlog line 11
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° Current sample contains 104 observations.
(o]

B

»
° Estimates for equation: CY
(o]

° Generalized least squares regression Weighting variable = ONE
(o]

° Dependent variable is CY Mean = 0.02756,S.D.=  0.0234
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

° Residuals: Sum of squares= 0.370552E-01 Std.Dev. = 0.01945

o

° Fit: R-squared = 0.30290, Adjusted R-squared = 0.26733
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o

°Model test: F[ 5, 98]= 8.52, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 265.2967, Restricted(4=0) Log-L = 243.4440
(o]

° Amemiya Pr. Crt.= 0.000, Akaike Info. Crt.= -4.986

o}

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.2808 Autocorrelation = 0.8596
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 0.4316563E-01 0.43860E-01 0.984 0.32503

Lwy 0.2137142E-01 0.12463E-01 1.715 0.08639 1.897

LWAM  -0.1033518 0.19143E-01 -5.399 0.00000 2.416

LWAF 0.4726750E-01 0.21236E-01 2.226 0.02603 2.337

LWK 0.2570839E-02 0.50971E-02 0.504 0.61400 -1.317

LQ 0.8742913E-02 0.32342E-02 2.703 0.00687 9.894

BT



»
° Estimates for equation: CAM
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CAM Mean = 0.32888,S.D.= 0.1371
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

° Residuals: Sum of squares= 0.923459  Std.Dev. = 0.09707

o}

° Fit: R-squared = 0.49418, Adjusted R-squared = 0.46837
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o}

°Model test: F[ 5, 98] = 19.15, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 98.0794, Restricted(a=0) Log-L = 59.5476
(o]

o Amemiya Pr. Crt.= 0.010, Akaike Info. Crt.= -1.771

o

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.2960 Autocorrelation = 0.8520
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -0.9818078 0.21895 -4.484 0.00001

Lwy 0.3720601E-01 0.62217E-01 0.598 0.54984 1.897

LWAM  -0.1471760E-01 0.95563E-01 -0.154 0.87760 2.416

LWAF  -0.5447693E-01 0.10601 -0.514 0.60734 2.337

LWK -0.1195097E-01 0.25445E-01 -0.470 0.63859 -1.317

LQ 0.1402115 0.16145E-01 8.684 0.00000 9.894

~
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° LIMDEP Estimation Results Runlog line 11
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° Current sample contains 104 observations.
(o]

B

»
° Estimates for equation: CAF
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CAF Mean = 0.18266, S.D.=  0.2147
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

% Residuals: Sum of squares= 1.11499 Std.Dev. = 0.10667

o

° Fit: R-squared = 0.75067, Adjusted R-squared = 0.73795
(o]



0 Note: Not using OLS. R-squared is not bounded in [0,1]

o}

° Model test: F[ 5, 98] = 59.01, Prob value = 0.00000

(o]

° Diagnostic: Log-L = 88.2788, Restricted(4=0) Log-L =  12.9612
(o]

° Amemiya Pr. Crt.= 0.012, Akaike Info. Crt.= -1.582

o}

° Log-determinant of & -17.5953 Log-likelihood 472.2467
(o]

% Durbin-Watson Stat.= 0.3412 Autocorrelation = 0.8294
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 2.639685 0.24059 10.972 0.00000

Lwy -0.1457223E-01 0.68366E-01 -0.213 0.83121 1.897

LWAM 0.5930756 0.10501 5.648 0.00000 2.416

LWAF  -0.3830483 0.11649 -3.288 0.00101 2.337

LWK 0.3758149E-01 0.27960E-01 1.344 0.17891 -1.317

LQ -0.2948852 0.17741E-01 -16.622 0.00000 9.894

~
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° LIMDEP Estimation Results Runlog line 11
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° Current sample contains 104 observations.
(o]

B

»
° Estimates for equation: CY
(o]

° Generalized least squares regression Weighting variable = ONE
(o]

° Dependent variable is CY Mean = 0.02756,S.D.=  0.0234
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

° Residuals: Sum of squares= 0.478293E-01 Std.Dev. = 0.02209

o

° Fit: R-squared = 0.10021, Adjusted R-squared = 0.05430
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o

°Model test: F[ 5, 98]= 2.18, Prob value = 0.06215

(o]

° Diagnostic: Log-L = 252.0248, Restricted(4=0) Log-L = 243.4440
(o]

o Amemiya Pr. Crt.= 0.001, Akaike Info. Crt.= -4.731

o

° Log-determinant of & -16.1299 Log-likelihood 396.0438
(o]

% Durbin-Watson Stat.= 0.8671 Autocorrelation = 0.5665

o

° Wald test: Chi-squared[ 8] = 249.4971, Prob = 0.0000



o}

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -0.2741522E-01 0.18632E-01 -1.471 0.14118

Lwy 0.7563881E-01 0.79348E-02 9.533 0.00000 1.897

LWAM  -0.1729532 0.13235E-01 -13.068 0.00000 2.416

LWAF 0.9484550E-01 0.12712E-01 7.461 0.00000 2.337

LWK 0.2468910E-02 0.34466E-02 0.716 0.47379 -1.317

LQ _ 0.1123327E-01 0.20612E-02 5.450 0.00000 9.894

BT

»
° Estimates for equation: CAM
(o]

° Generalized least squares regression  Weighting variable = ONE
(o]

° Dependent variable is CAM Mean = 0.32888,S.D.= 0.1371
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

% Residuals: Sum of squares= 1.28728 Std.Dev. = 0.11461

o

° Fit: R-squared = 0.29490, Adjusted R-squared = 0.25892
(o]

0 Note: Not using OLS. R-squared is not bounded in [0,1]

o

°Model test: F[ 5, 98]= 8.20, Prob value = 0.00000

(o]

° Diagnostic: Log-L =  80.8069, Restricted(4=0) Log-L =  59.5476
(o]

o Amemiya Pr. Crt.= 0.014, Akaike Info. Crt.= -1.439

o

° Log-determinant of & -16.1299 Log-likelihood 396.0438
(o]

% Durbin-Watson Stat.= 0.3475 Autocorrelation = 0.8262

o

° Wald test: Chi-squared[ 8] = 249.4971, Prob = 0.0000
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant -0.6087240 0.15394 -3.954 0.00008

Lwy -0.1729532 0.13235E-01 -13.068 0.00000 1.897

LWAM 0.5520386 0.18142E-01 30.429 0.00000 2.416

LWAF  -0.3952674 0.15874E-01 -24.901 0.00000 2.337

LWK 0.1618195E-01 0.17137E-01 0.944 0.34504 -1.317

LQ 0.8864074E-01 0.13609E-01 6.513 0.00000 9.894

~

[T
° LIMDEP Estimation Results Runlog line 11
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° Current sample contains 104 observations.
(o]

Y
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»
° Estimates for equation: CAF
(o]

° Generalized least squares regression Weighting variable = ONE
(o]

° Dependent variable is CAF Mean = 0.18266, S.D.=  0.2147
(o]

° Model size: Observations = 104, Parameters = 6, Deg.Fr.= 98
(o]

ZResiduaIs: Sum of squares= 2.24600 Std.Dev. = 0.15139
Z Fit: R-squared = 0.49776, Adjusted R-squared = 0.47214
Z Note: Not using OLS. R-squared is not bounded in [0,1]
ZModeI test: F[ 5, 98]= 19.43, Probvalue = 0.00000

° Diagnostic: Log-L = 51.8630, Restricted(4=0) Log-L =  12.9612
(o]

o Amemiya Pr. Crt.= 0.024, Akaike Info. Crt.=  -0.882

o

° Log-determinant of & -16.1299 Log-likelihood 396.0438
(o]

% Durbin-Watson Stat.= 0.1462 Autocorrelation = 0.9269

o

° Wald test: Chi-squared[ 8] = 249.4971, Prob = 0.0000
o

E
Ya

Variable Coefficient Standard Error z=b/s.e. P[3Z230z] Mean of X
AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA
Constant 2.081081 0.16034 12.979 0.00000

Lwy 0.9484550E-01 0.12712E-01 7.461 0.00000 1.897

LWAM  -0.3952674 0.15874E-01 -24.901 0.00000 2.416

LWAF 0.3723226 0.19295E-01 19.296 0.00000 2.337

LWK -0.7190070E-01 0.20955E-01 -3.431 0.00060 -1.317

LQ -0.2109971 0.13756E-01 -15.339 0.00000 9.894



